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Examiner
|
Theme 1: Changing Places — Changing Economies o

Answer Question 1.

1. (@) (i) International migration is one feature of globalisation.

Tick (v) one box below to give the correct definition of the term ‘international
migrant’. (1]

Tick (V)

Someone who moves from part of a city to a different part

Someone who moves from one country to another country

Someone whose parents were born in a different country

(ii) Study Figure 1.1 below.

Figure 1.1 — Global changes in the number of international migrants

3.4% 3.4% 3_2% International migrants

3.2% as % of world population

2.9%
2.8% @
.;—./
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258 i
ey [ Ml Numberof
Million international migrants
174
Million

1995 2000 2005 2010 2015 2020
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65-69 4.3%
60-64 [ 5.3%)|
- 69 : :
gg_gg 5.6% 7% Population pyramid
4549 | 8% of age and gender of
40-44 | 9.2% international migrants
35-39 10.1%
30-34 104%]
25-29 9.6%|
20-24 6.9%|
15-19
10-14
59 [ 83%
0-4 2.8%
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Examiner

[
the correct answer in each of the following sentences. [4] o

Between 1995 and 2020 the total number of international migrants increased by

( 84 million / 89 million / 98 million ) people.

Between 2010 and 2020 the proportion of the world’s population who are

international migrants ( decreased / slightly increased / rapidly increased ).

The lowest percentage of international migrants are

( males aged 70-74 /| females aged 65-69 / males aged 0—4 ).

The difference between male and female international migrants aged 30-39 is

(0.8% / 11% | 1.7% ).

(i)  Give four push factors which can lead to international migration. [4]

P T (o ) it OO

C112U101
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(iv) Give two reasons why international migration can have social consequences. [4]
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(b) ()

(ii)

Many UK cities have zones where there is a mix
people.

of different ethnic groups of

Tick (v) the box below which gives the correct term for the zones of a city where

there is a mix of different ethnic groups.

Tick ()

Multipurpose

Multinational

Multiplier

Multicultural

[1]

Study Figure 1.2 below. It shows a transect through the UK city of Bristol with the

percentages of Black, Asian and Minority Ethnic

population.

Figure 1.2 — Transect through Bristol showing percentage of Black, Asian and Minority

Ethnic population

Key:
Bristol % Black, Asian 10
Channel and Minority

Ethnic population O

City centre @

1
kilometres

Examiner
only
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Suggest two weaknesses of Figure 1.2 to show the information. [2]

(iii) A student used data on languages spoken in Bristol (other than English) to
produce this word cloud (Figure 1.3). The size of the word is proportional to the
number of speakers of that language.

Figure 1.3 — Word cloud of languages, other than English, spoken in Bristol

Slovak

B Russian
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ltalian

LatVi'lqsr;galog/FiIipino C h i n eS e Malayalam Cam’?"gﬁ%ﬁ‘”ggmese
Arabic e *French

Turkish
Portuguese
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Hungarian Span |Sh
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Give two other appropriate techniques to display this information. [2]
0000000000000 OO0 OO OO OO
2 e
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(©)

(i) Emergency aid is sometimes needed when a disaster occurs. Countries that send
aid are called ‘donor countries’.

Describe two advantages for a donor country when short-term emergency aid is
given. (2]

AGVANTAGE T e

(i) Explain why short-term emergency aid was needed in an LIC (Low Income
Country) you have studied. [4]

NAME OF COUNTIY ..o

Examiner
only
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(d) Study Figure 1.4 below which shows the Queen Elizabeth Olympic Park in London.
This was developed for the 2012 Olympic Games.

Figure 1.4

Fact Box

e The Olympic Park includes the Olympic (London) Stadium and other buildings
and parklands.

* Built on 200 hectares of toxic wasteland using 25% recycled materials.

¢ Events held at the stadium since 2012 include World Athletics, Women’s
Hockey World Cup, Rugby World Cup.

¢ West Ham United Football Club pay £2.5 million a year to rent the converted

Olympic Stadium.

Stadium expected to lose £140 million of public money over the next decade.

More than 23 million people have visited the Olympic Park since 2012.

Local transport links improved.

High unemployment and lack of affordable housing in the surrounding area of

East London.

07
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Analyse the impacts of holding major sporting events in the UK such as the London
2012 Olympic Games.

You may also use examples you have studied to support your answer. [8]

Your ability to spell, punctuate and use grammar and specialist terminology accurately
will be assessed in your answer to this question. [4]
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Additional space for 1(d) only:

End of Question 1
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Examiner
Theme 2: Changing Environments only

Answer the compulsory Questions 2(a), 2(b) and 2(c).

Choose either Question 2(d) (Coasts and coastal management) or Question 2(e)
(Rivers and river management).

2. (@ (i) Study Figure 2.1 below.
Figure 2.1 — Average UK temperatures in January and July

An isotherm is a line joining places of equal temperature.

January Isotherms July Isotherms
5° N N

o

Fort
@ William

&)

14°

4°

Scarborough

5

15°
Scarborough

17°
London

Penzance 70 ° 16"‘ Penzance
Key: 14— — =temperature °C
Use the information in Figure 2.1 to complete the following sentences. [3]
In January there is @ ... °C temperature difference

between Fort William and Penzance.

In July, the warmest place is ... , While Scarborough’s

temperature is ... °C.

10
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Study Figure 2.2 below.

Figure 2.2 — Dispersion graph showing total rainfall for September 2020 for some
places in the UK
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0

(i)  What is the median value of this rainfall data? ... mm  [1]

(iii)  Calculate the range of the rainfall data in Figure 2.2. Show your working in the
box below. 2]

Examiner
only
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(iv) Give two reasons why the west of the UK is wetter than the east. [4]

Reason 1

(v) The UK weather is affected by many factors including air pressure.

the correct word in the sentences below. 2]

Areas of high pressure are known as (anticyclones / depressions / hurricanes).
Areas of low pressure are known as (anticyclones / depressions / droughts).

(b) Choose one intense low pressure weather event outside the UK that you have studied.

Describe the social and economic impacts of this weather event. [6]

Name of weather event

12
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Examiner
|
() () Australia regularly experiences drought conditions. o
Study Figure 2.3 below.
Figure 2.3 — Average winter rainfall patterns for Australia 1999-2018
Key:
y N
Average winter rainfall
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O faes— - -
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AD °
- /,é_y/‘y
Very much 4 /
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T e s
Lowest on record < 2
0 500 km o
TASMANIA
Tick () the two correct statements in the table below which describe the rainfall
patterns shown in Figure 2.3. [2]
Tick (V)
Victoria had some areas with above average rainfall
South Australia had the largest area of above average rainfall
Western Australia had the largest area of lowest average rainfall
It becomes drier as you get further north
The north coast of Australia had more rain above average than
the south coast
Most of the Northern Territory had below average rainfall

13
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(ii)

Droughts are becoming more frequent in many parts of the world.

Explain why two groups of people may be negatively affected by droughts.

14
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OPTIONAL QUESTIONS
Answer one question.
Choose either Question 2(d) (Coasts and coastal management) or Question 2(e)
(Rivers and river management).
Coasts and coastal management
2. (d) Some coastal areas of the UK are under increasing risk of damage through erosion.
Study Figure 2.4.

Figure 2.4 — Examples of soft and hard engineering methods of coastal protection

HARD ENGINEERING SOFT ENGINEERING

Sea walls and groynes Beach nourishment

15
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Is hard or soft engineering a more sustainable way of managing UK coastlines?
Justify your views. [8]

16
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Additional space for 2(d) only:
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If you have answered Question 2(d), do not answer Question 2(e).

Rivers and river management
2. (e) Some riversinthe UK are under increasing risk of flooding.
Study Figure 2.5 below.

Figure 2.5 — Examples of soft and hard engineering methods of river flood management

HARD ENGINEERING SOFT ENGINEERING

Building dams Managed flooding

Man made channel to take away flood water Clearing vegetation

18
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Is hard or soft engineering a more sustainable way of managing UK rivers?
Justify your views. [8]
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Additional space for 2(e) only:

End of Question 2
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Theme 3: Environmental Challenges
OPTIONAL QUESTIONS
Answer one question.
Choose either Question 3 (How ecosystems function, Ecosystems under threat) or
Question 4 (Water resources and management, Desertification).
Ecosystems
3. (a) Ecosystems contain many different components.
Study Figure 3.1 below.

Figure 3.1 — Table showing some definitions of terms.

Letter Definition
A The parts of an ecosystem which are non-living things.
B The parts of an ecosystem which break down leaf litter.
C The community of plants, animals and the environment they live in.
D The parts of an ecosystem where plants convert starch from the sun’s energy.
E The parts of an ecosystem which are living things.

(i) Complete the table below by adding the correct letter from Figure 3.1. 2]
Term Letter from Figure 3.1
Biotic
Abiotic

(i) Describe the role of producers in an ecosystem. 2]

21
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(iif)

Explain why a reduction in the number of secondary consumers would have an
impact on a food web. [4]

22
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(b) (i) Sand dunes are an example of a small-scale ecosystem. They are mounds of
sand formed by wind.

Study Figure 3.2.

Figure 3.2 — Transect across a sand dune ecosystem

157 marram pine woodland
grass

sea couch grass
107 sea rocket
grass,
heather
and sedge
w

beach

Metres (above and below sea level)

100 200 300 400 500 600
Metres from sea

Describe changes in vegetation with distance from the sea. You should use
figures in your answer. [4]

23
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(i) Study Figure 3.3.
Figure 3.3 — Changes in the amount of marram grass along a sand dune transect
40-
301
20+

10

0
50 100 150 200 250 300 350 400 450 500550 600
104 Metres

Percentage

207

304

40-

What technique has been used to show the data in Figure 3.3?

Tick (V) the correct answer in the box below. 1]

Technique Tick ()

Dispersion graph

Star graph

Pictogram

Kite diagram

24
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(iif)

(iv)

Study Figure 3.4.

Figure 3.4 — The nutrient cycle in a sand dune ecosystem

Biomass

Key:

O store

—p flow

size of circles and width

of arrows are proportional
Complete the sentences below using the information in Figure 3.4. [3]
The largest store of nutrients is the ... .
The greatest flow of nutrients is from ..., to

Explain why groups of people have different views about managing a small-scale
UK ecosystem you have studied. [4]

25
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Examiner
(c) Give four human activities that have damaged hot semi-arid grasslands. [4] on
o3 11771 /20 OO
A C VLY 2 oo
A C VLY B oo
A C VLY 4 oo
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Figure 3.5 — Camargue Wetland Ecosystem in Southern France

A wetland ecosystem is where the land is either seasonally or permanently flooded. The

Camargue is a Biosphere Reserve with habitats of lakes, marshes, woodland, ponds and sand
dunes.

.%n N 7 % W\

There are 400 bird species including Crops grown include rice, grapes

the only colony of flamingos in and fruit. Farmers want to pump

France. Also, rare species of fish, water from the river as rising sea

dragonfly and flowers. levels mean salt water is ruining the
rice crop.

0 10km Mediterranean Sea
L

Key: === Camargue Wetland boundary

Salt from here is sold worldwide. Tourists enjoy the beaches.

27

© WJEC CBAC Ltd. (C112U10-1) Turn over.



28

(d) ‘The economic benefits are more important than environmental costs when managing
ecosystems.’
How far do you agree with this statement? [8]

You may use the resources in Figure 3.5 and/or examples you have studied to support
your answer.

Examiner
only

28

© WJEC CBAC Ltd. (C112U10-1)




29

Examiner
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Additional space for 3(d) only:

End of Question 3
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If you have answered Question 3, do not answer Question 4.
Water resources and desertification
(@) Water is a vital human resource.
Study Figure 4.1 below.
Figure 4.1 — Global water footprint
Equator
Tropicof W& [/ =] )/ ALK
Capricorn =" AUSTRALASIA
Global average water footprint is 4 /
around 1240 m? per year per person
Key: Water footprint per person, m® per year
=—600—1000 . >1000-1300 . >1300-1800 . >1800—-2500 /?{%?/ No data
=
(i) Use the information in Figure 4.1. Tick () the four correct statements about the
global water footprint in the table below. [4]

Per person ...

Tick (V)

South America has a higher water footprint than North America.

there are no countries in Australasia which are below the global average water
footprint.

countries in Southern Africa have a lower water footprint than those in Northern Africa.

North America has a higher water footprint than South America.

there are no countries in Europe with a below global average water footprint.

countries with the lowest water footprint are only found south of the Equator.

there are no countries with the highest water footprint south of the Tropic of Capricorn.

Examiner
only
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(i) Explain why there is an increasing demand for water in some places. [4]

Study Figure 4.2.

Figure 4.2 — Table showing how much water it takes to produce some items

Item Amount of water needed to produce it
1litre orange juice 1020 litres
1 litre milk 1000 litres
1kg rice 2500 litres
1kg sugar 1800 litres
1kg butter 940 litres
1dozen eggs 2400litres

(iii)  Suggest two appropriate techniques from the table below which could be used to
show the information in Figure 4.2. [2]

Technique Tick (V)

Pie chart

Triangular graph

Bar graph

Pictogram

Radial graph

31
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(iv) Give two reasons why a line graph would not be an appropriate technique to
show this information. [2]

RS ON oo e e ettt

(b) Describe one advantage and one disadvantage of transferring water between two
countries. [4]

AQVANTAGE e

(c) Desertification is a growing problem for many countries.

(i) Explain why cutting down trees can lead to desertification. [4]

32
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There are many ways to reduce the impact of desertification.
Study Figure 4.3 below.

Figure 4.3 — How lines of stones (magic stones or bunds) work

h Rain falls

Run-off is slowed
by lines of stones

!

B Less bare ground

:

Y

O |[¢—

Crop yield
improves

(i) Complete the table below, adding the correct letter from Figure 4.3 next to the

statement.

Statement Letter from Figure 4.3

Plants have more water

Stones trap soil

Plants have more nutrients

More rain infiltrates to recharge the soil

[4]

Examiner
only
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(d) Study Figure 4.4 below.

Figure 4.4 — Managing desertification

Making charcoal for cooking fuel

Selling firewood by burning wood
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‘The economic benefits are more important than environmental costs when managing
desertification.’
How far do you agree with this statement? [8]

You may use the resources in Figure 4.4 and/or examples you have studied to support
your answer.

Examiner
only
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Additional space for 4(d) only:

End of Question 4
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